Feagr (2)

B micsayame s s B

g2 iih b ki




g2 iih b ki




g2 iih b ki




g2 iih b ki

Lz ] DA ] A 2 8 x

o J

e ) 2
ATk 2 =



g2 iih b ki

ANA fﬂfﬁ"]%{—: ? l‘;ﬁ {x

J




g2 iih b ki

s

=0 1
‘1}5’] z I




g2 iih b ki

m
RO
A — |
N
v X
®oo-
£ 5
& 4
A

0.5 2 A ]




g2 iih b ki

0.5cm




Feagr (2)

B micsayame s s B

S A e & Rl fodg-)
Bl &_5%75%5 7

g2 iih b ki




g2 iih b ki




g2 iih b ki

=
P




g2 iih b ki




g2 iih b ki




g2 iih b ki

T 5}I]; y L @{E’ g]
R ETTY




g2 iih b ki

f*ﬂ




g
ML 21224 - [ & 60
3

Bl > ¢ BlonaE §

A2 ST 60°+360° =

g2 iih b ki

535 0 ¢ Bl E_Y B

R ETTY

1
6




g2 iih b ki

£12 20~ s & 60° %) 0 ¢ FAT W
< B ¢ BleuiE F }%]mm«x?
< 1
A S A2 S 60°+360" = <
E,




Fea kT (2)
1 7 B E L1225 s Flw 60° 1575 0 ¢ BAT F
SRR S RN UE S S R P
T %A A 2 S 607+ 360" = ¢
LA LNy 12><2><314><é—1256

g2 iih b ki




& thih b i

LT RAEL12 20 s e & 607 50 ¢ LT W

13 gk Bl 0 o Blemak 9 Bland i 0
P 5 E 8 2 A F 607+ 360" =

BB e £ 12><2><314><é—1256

Fle o BAT Bl 3 8% H

1
6



g2 iih b ki

1 n}:g]{:-l‘-;{ilz /\Av\ [E_]o\)ﬁ;6oo ﬁ?g}l—lj ’ Z)E%‘]T\E‘LE'F%‘]

£ ‘;’,"i*\}%]a Z»}%]m”’? }%]mé.«/e»?

O R 558 %2 % 60"+ 360° =

BB e £ 12><2><314><é—1256

4

Fla ¢ BAE_T B3 E3c~ [{)
w10 o Bl el & £_60°

1
6



Feakr (Z)

1

12

r /

£

El
B B ¢ Basnk 7 B e 0

O\b—l

}:g] 3 Tl o 7;1,\};- 7‘ [F'T] 60 360

7 s f 12><2><314><é—1256

F15 ¢ BlE_7 B3 22k B
1) T Fﬁ‘]m]ﬁ’]m ﬁ;n—\GOo B "R3B

g2 iih b ki

g
Bl AL 12 o8 s [ﬁ].c;ﬁ_ 60° %25 o F A0
3




24 B0 ¢ BnE

o Bl %AE A 2 S 60°:360° =

" Rlannk P 12x2x3.14 X

Fla ¢ BIET Bl 3 s
Bl T }:%‘]mrﬁ]ouﬁ;q,\600 y

©r
Bl L e 12 24 ~ fﬁ]wi60 1575 5 ¢ B0
3

1
6
B

g2 iih b ki

" R i 2

O\b—l

=12.56

X s R0 Flin3 i




g2 iih b ki

1 7 B E L1225 s Flw 60° 1575 0 ¢ BAT F

m3 P«)i.‘}%‘] s L }%‘]g’—jg;f\l? E%’]mé.z. > f?
T %A A 2 S 607+ 360" = ¢
" Bl ek 12><2><314><é—12.56

4

F1s ¢ BT B3 B B
arr e Blenffle & £ 60° 0 L E 0 B3 R

z Bl ek 12><2><3><314><é—37.68



g (=)
TRAELE12 20~ Fle & 60° H1%75 > ¢ [
13 B B0 ¢ BlaniE ET Bl R Y
T %A A 2 S 607+ 360" = ¢
¥ Bl R & 12><2><314><é—12.56

F1 5 ¢ Bl AT B3 23~ [F

stre Rl & 8607 0 XS E 0 3R
z B e £ 12><2><3><314><é—37.68
37.68 +-12.56=3

g2 iih b ki

7




g (=)
TRAELE12 20~ Fle & 60° H1%75 > ¢ [
13 B B0 ¢ BlaniE ET Bl R Y
T %A A 2 S 607+ 360" = ¢
¥ Bl R & 12><2><314><é—12.56

F1 5 ¢ Bl AT B3 23~ [F

stre Rl & 8607 0 XS E 0 3R
z B e £ 12><2><3><314><é—37.68
37.68 +-12.56=3

g2 iih b ki

7

i~

'%'5:31

|

P




24520 24 ~ Fle d 90°

PR R

g2 iih b ki

535 0 7 BlAP B

R RS R Y




g2 iih b ki

LG 20 24 Tﬁ’]'» £ 907 ey > T l"laﬁ )
= z{:ﬁ,y}gj TRl E AL ]%]m}%-ﬁ‘ =
S A2 B




87 thih b il

FeEakr (=)

2 BRA L2024 ok 907 h%A% 0 T BAR B
N ]
Ty BHL R T B R AR RS R Y

El A& )\ 5 % 1
R 58 A 2 S 907360 = g



g2 iih b ki

i
2 FREL 20 24~ fle b 90° hnA o o BAS B
1/ 2,0, A 7

5 5 dgel Bl T Bl R RS R Y

1
— 7




2 ﬁl?]{ 20 2 A

| —
-
=

%2 ST 907+ 360 =

20x2x314xi—314

|
4

“Fle & 90° % A) > 7 BIEA B
0 B0 " Bame L Lp Bl i

?

g2 iih b ki




& i 5 A

Féagr (Z)

2 A RIE L2024 ok 000 %A% 7 BAS B
1,
2

i B B 7 Bk AR RS R 7

BB 5 E S A 2 ST 907+ 360° =

Bl e & 20><2><314><411—314

|
4



Fehagr (Z)
2 B ORIE LT 20 2

r /

BB 5 E S A 2 ST 907+ 360° =

il EERE e

550 B Mg 6500 W

“r0 7 Jlenffle & £90°

9

1

20><2><314><4—314

|
4

Flw & 90° e0% 5 > = B AA B
S B 7 Bk LE B

?

g2 iih b ki




g2 iih b ki

_;_5'3‘:
B AL 20 24 ~Fle & 90° eh%a) > 7 BIAP B
| , .
5 BHEI B T Bl R AR RS R Y

7B 42 B 907360 =
i Bl £ 20><2><314><411—314
v D R
F15 7 BIAD By 55 B
1

127 Bl £ 2907 > LR R By i




g2 iih b ki

S
B AL 20 24 ~Fle & 90° eh%a) > 7 BIAP B
... q 4
5 BHEI B T Bl R AR RS R Y

AR %08 A 2 S 90" 360" = 1
Bl e & 20><2><314><411—314
ﬂéﬂ@aﬁ@m s SEl

Lo L1,
“rr0 7 BNl £ 5907 0 2T AP By B

T OBk




g2 iih b ki

Féagr (Z)

2 AEE L2024 Fle k907 %5 7 FIAA B
1,
2

iy B 45 B 7 Blawi R AR WSR2

ARG E A 2 S 907360 = 5

Bl e & 20><2><314><411—314

“rr) 7 Blepfle 4§ 900 » X T E A E%‘lr’ﬁ% %
T Bl e L 20><2><2><314><411—157




Féagtr (Z)

2

r /

eyl

B
K

- 1E

g2 iih b ki

20 24~ e £ 907 05 0 7 BAR H

BB T Bl E AR RS R

ARG E A 2 S 907360 = 5

7 B s & 20><2><314><411—314
ﬂé"@aﬁ@m s SEl

2rr T BlenfEle & § 907 > R AR 5%—]5”% e
T Bl 20><2><2><314><411—157

15.7 +31.4=0.5




Féagtr (Z)

2

r /

eyl

B
K

- 1E

g2 iih b ki

20 24~ e £ 907 05 0 7 BAR H

BB T Bl E AR RS R

ARG E A 2 S 907360 = 5

7 B s & 20><2><314><411—314
ﬂé"@aﬁ@m s SEl

2rr T BlenfEle & § 907 > R AR Ff%—]f"/”% 5
T Bl 20><2><2><314><411—157
15.7+31.4=0.5

LR e S
6 . 05 l":‘,




